

## Convergence of an Approach for Solving Fredholm Functional Integral Equations

Nasser Aghazadeh\*, Somayeh Fathi

Department of Applied Mathematics,  
Azarbaijan Shahid Madani University, Tabriz, Iran.

E-mail: aghazadeh@azaruniv.ac.ir

E-mail: elvin390@yahoo.com

**ABSTRACT.** In this work, we give a product Nyström method for solving a Fredholm functional integral equation (FIE) of the second kind. With this method solving FIE reduce to solving an algebraic system of equations. Then we use some theorems to prove the existence and uniqueness of the system. Finally we investigate the convergence of the method.

**Keywords:** Functional integral equation, Fredholm, Product Nyström method, Lagrange interpolation, Convergence.

**2000 Mathematics subject classification:** 45B05, 65D05.

### 1. INTRODUCTION

Functional integral equations have a significant role in important branches of linear and nonlinear functional analysis and their applications. Equations of such a type are often arise in physics, mechanics, control theory, economics and engineering, for instance [16]-[22]. Functional integral equations have been studied widely in several papers and monographs [23]-[28].

---

\*Corresponding Author

Consider the following Fredholm functional integral equation of the second kind

$$y(x) - p(x)y(h(x)) - \lambda \int_a^b k(x,t)y(t)dt = g(x), \quad a \leq x \leq b, \quad (1.1)$$

where  $p(x), h(x), g(x)$  and  $k(x, t)$  are known functions and  $\lambda$  is known parameter and  $y(x)$  is the unknown function to be determined. Here, we suppose that the kernel  $k(x, t)$  is discontinuous at finite points and the unknown function  $y(x)$  is continuous. Usually we can write the discontinuous kernel  $k(x, t)$  as  $k(x, t) = p(x, t)\bar{k}(x, t)$ , where  $p(x, t)$  and  $\bar{k}(x, t)$  are ill-posed and well-posed functions with respect to their arguments, respectively. In the sequel, we suppose that we have such representation.

## 2. THE METHOD

We divide the interval  $[a, b]$  into  $N$  subinterval such that

$$h = \frac{b-a}{N}, \quad x_i = t_i = a + ih, \quad i = 0, 1, \dots, N,$$

and  $N$  is multiplication of integer  $s \geq 1$ . The integral part of (1.1) can be write as

$$\begin{aligned} \int_a^b k(x, t)y(t)dt &= \int_a^b p(x, t)\bar{k}(x, t)y(t)dt \\ &= \sum_{j=0}^{\frac{N-s}{s}} \int_{t_{sj}}^{t_{sj+s}} p(x, t)\bar{k}(x, t)y(t)dt, \end{aligned} \quad (2.1)$$

where choosing  $s$  is depend upon the used integration method, e.g.  $s = 1$  in the Trapezoidal rule and  $s = 2$  in the Simpson rule.

In the product Nyström method, the well-posed part of integration over every subinterval

$$I_j = [t_{sj}, t_{sj+s}], \quad j = 0, 1, \dots, \frac{N-s}{s},$$

approximated by using Lagrange polynomials of degree  $s$  which interpolates at points

$$t_{sj}, t_{sj+1}, \dots, t_{sj+s}.$$

If we use the notation  $L_{N,j}$  for the Lagrange polynomial at the subinterval  $I_j$ , we have:

$$\bar{k}(x, t)y(t)|_{I_j} \simeq L_{N,j} = \sum_{i=sj}^{sj+s} l_{i,j}(t)\bar{k}(x, t_i)y(t_i), \quad j = 0, 1, \dots, \frac{N-s}{s}, \quad (2.2)$$

where  $l_{i,j}(t)$  denote the Lagrange polynomial of degree  $s$  at the interval  $I_j$ , and is defined as

$$l_{i,j}(t) = \prod_{k=sj, k \neq i}^{sj+s} \frac{t - t_k}{t_i - t_k}, \quad i = sj, sj + 1, \dots, sj + s; \quad j = 0, 1, \dots, \frac{N-s}{s},$$

so, for every subinterval  $I_j$ ,

$$\int_{t_{sj}}^{t_{sj+s}} k(x, t)y(t)dt \simeq \int_{t_{sj}}^{t_{sj+s}} L_{N,j}p(x, t)dt,$$

and the approximation error can be find by

$$e = \left| \int_{t_{sj}}^{t_{sj+s}} k(x, t)y(t)dt - \int_{t_{sj}}^{t_{sj+s}} L_{N,j}p(x, t)dt \right|.$$

By substituting the interpolation polynomial  $L_{N,j}$  in the relation (2.1), the approximate value of integral part of the equation (1.1) reduce to

$$\begin{aligned} \int_a^b k(x, t)y(t)dt &\simeq \sum_{j=0}^{\frac{N-s}{s}} \int_{t_{sj}}^{t_{sj+s}} L_{N,j}p(x, t)dt \\ &= \sum_{j=0}^{\frac{N-s}{s}} \sum_{i=sj}^{sj+s} \left( \bar{k}(x, t_i)y(t_i) \int_{t_{sj}}^{t_{sj+s}} l_{i,j}(t)p(x, t)dt \right) \\ &= \sum_{i=0}^s \left( \bar{k}(x, t_i)y(t_i) \int_{t_0}^{t_s} l_{i,0}(t)p(x, t)dt \right) \\ &+ \sum_{i=s}^{2s} \left( \bar{k}(x, t_i)y(t_i) \int_{t_s}^{t_{2s}} l_{i,1}(t)p(x, t)dt \right) \\ &+ \dots + \sum_{i=N-s}^N \left( \bar{k}(x, t_i)y(t_i) \int_{t_{N-s}}^{t_N} l_{i, \frac{N-s}{s}}(t)p(x, t)dt \right), \end{aligned}$$

thus, for  $i = sj$  ( $j = 1, \dots, \frac{N-s}{s}$ ), we have two integral and one for other  $i$ s. After collecting we can rewrite the above integral as

$$\int_a^b k(x, t)y(t)dt \simeq \sum_{i=0}^N w_i(x)\bar{k}(x, t_i)y(t_i), \tag{2.3}$$

where

$$\begin{aligned}
 w_0(x) &= \int_{t_0}^{t_s} \prod_{k=1}^s \frac{t-t_k}{t_0-t_k} p(x,t) dt \\
 w_{sj}(x) &= \int_{t_{sj-s}}^{t_{sj}} \prod_{k=sj-s}^{sj-1} \frac{t-t_k}{t_{sj}-t_k} p(x,t) dt + \int_{t_{sj}}^{t_{sj+s}} \prod_{k=sj+1}^{sj+s} \frac{t-t_k}{t_{sj}-t_k} p(x,t) dt, \\
 &\quad \text{for } j = 1, 2, \dots, \frac{N-s}{s} \\
 w_{sj+m}(x) &= \int_{t_{sj}}^{t_{sj+s}} \prod_{k=sj, k \neq sj+m}^{sj+s} \frac{t-t_k}{t_{sj+m}-t_k} p(x,t) dt, \\
 &\quad \text{for } j = 1, 2, \dots, \frac{N-s}{s}, \quad m = 1, 2, \dots, s-1 \\
 w_N(x) &= \int_{t_{N-s}}^{t_N} \prod_{k=N-s}^{N-1} \frac{t-t_k}{t_N-t_k} p(x,t) dt. \tag{2.4}
 \end{aligned}$$

Now, we approximate  $y(h(x))$  as

$$y(h(x)) \simeq \sum_{i=0}^N l_{i,N}(h(x))y(x_i),$$

where  $l_{i,N}(h(x))$  is defined as the following

$$l_{i,N}(h(x)) = \prod_{k=0, k \neq i}^N \frac{h(x) - x_k}{x_i - x_k}.$$

Substituting these relations in (1.1), we have an approximate to the integral equation (1.1) as the following

$$y_N(x) - p(x) \sum_{i=0}^N l_{i,N}(h(x))y_N(x_i) - \lambda \sum_{i=0}^N w_i(x) \bar{k}(x, t_i) y_N(t_i) = g(x), \quad a \leq x \leq b, \tag{2.5}$$

where  $y_N(x)$  shows the approximate solution from product Nyström method for  $y(x)$ . From  $x_i = t_i = a + ih$ , (2.5) can be rewritten as the following

$$y_N(x) - \sum_{i=0}^N \left\{ p(x) l_{i,N}(h(x)) + \lambda w_i(x) \bar{k}(x, t_i) \right\} y_N(t_i) = g(x), \quad a \leq x \leq b. \tag{2.6}$$

**Theorem 2.1.** For  $x = x_j = t_j, \quad j = 0, 1, \dots, N$ , solving (2.6) is equal to solving the following system of linear algebraic equation

$$y_N(t_j) - \sum_{i=0}^N \left\{ p(t_j) l_{i,N}(h(t_j)) + \lambda w_{ij} \bar{k}(t_j, t_i) \right\} y_N(t_i) = g(t_j), \quad j = 1, 2, \dots, N, \tag{2.7}$$

where  $w_{ij} = w_i(t_j)$ , and the vector  $Y_N = [y_N(t_0), \dots, y_N(t_N)]^T$  is unknown.

*Proof.* See [2]. □

The unknown function  $Y_N(x)$  can be calculated from (2.6) by having approximate values of  $y_N(t_i)$  as following

$$y_N(x) = g(x) + \sum_{i=0}^N \left\{ p(x)l_{i,N}(h(x)) + \lambda w_i(x)\bar{k}(x, t_i) \right\} y_N(t_i). \quad (2.8)$$

The (2.8) is called Nyström interpolation formula.

In the next section we prove the existence and uniqueness of the system of linear algebraic equations (2.7).

### 3. SYSTEM OF LINEAR ALGEBRAIC EQUATIONS

In this section we discuss the necessary conditions for existence and uniqueness of the system of linear algebraic equations (2.7) in the Banach space  $L^\infty$ . For easy discussing, consider the following functional integral equation of the second kind

$$y(x) - p(x)y(h(x)) - \lambda \int_{-1}^1 p(x, t)y(t)dt = g(x), \quad -1 \leq x \leq 1, \quad (3.1)$$

where  $g(x)$  is a known continuous function and  $p(x, t)$  is a weakly singular kernel. By using the product Nyström method for equation (3.1) at nodes  $\{x_j\}_{j=0}^N$ , we have the following linear algebraic system

$$y_N(t_j) = g(t_j) + \sum_{i=0}^N \left\{ p(t_j)l_{i,N}(h(t_j)) + w_{ij} \right\} y_N(t_i), \quad j = 0, 1, \dots, N.$$

**Theorem 3.1.** *Suppose a function  $f(x)$  is interpolated on the interval  $[a, b]$  by a polynomial  $p_n(x)$  whose degree does not exceed  $n$ . Suppose further that  $f$  is arbitrarily often differentiable on  $[a, b]$  and there exists  $M$  such that  $|f^{(i)}(x)| \leq M$  for  $i = 0, 1, 2, \dots$  and any  $x \in [a, b]$ . It can be shown without additional hypotheses about the location of the support abscissas  $x_i \in [a, b]$ , that  $p_n(x)$  converges uniformly on  $[a, b]$  to  $f(x)$  as  $n \rightarrow \infty$ .*

*Proof.* See [8]. □

**Theorem 3.2.** *Let  $\{x_i\}_{i=s_j}^{s_{j+1}}$ ,  $j = 0, 1, \dots, \frac{N-s}{s}$  be the  $s + 1$  support points of Lagrange polynomial of degree  $s$  on subinterval  $[t_{s_j}, t_{s_{j+1}}]$ . Moreover suppose that the weakly singular kernel  $p(x, t)$  satisfies the condition  $p(x, t) \in L_q$  for  $q > 1$  and let  $l_{N,j}(f, t)$  denotes the interpolating Lagrange polynomial of degree  $\leq s$  that interpolate function  $f$  at the nodes  $\{x_i\}_{i=s_j}^{s_{j+1}}$ . Then, for every function  $f \in C[-1, 1]$  which satisfies the hypothesis of theorem (3.1), we have*

$$\lim_{N \rightarrow \infty} \left\| \int_{-1}^1 p(x, t)f(t)dt - \int_{-1}^1 p(x, t)l_{N,j}(f, t)dt \right\|_\infty = 0 \quad (3.2)$$

*Proof.*

$$\begin{aligned} & \left\| \int_{-1}^1 p(x,t)f(t)dt - \int_{-1}^1 p(x,t)l_{N,j}(f,t)dt \right\|_{\infty} \\ &= \sup_x \left| \int_{-1}^1 p(x,t)(f(t) - l_{N,j}(f,t))dt \right| \\ &= \sup_x \left| \sum_{j=0}^{N-s} \int_{t_{sj}}^{t_{sj+s}} p(x,t)(f(t) - l_{N,j}(f,t))dt \right| \\ &\leq \sup_x \sum_{j=0}^{N-s} \left( \int_{t_{sj}}^{t_{sj+s}} |p(x,t)| \cdot |f(t) - l_{N,j}(f,t)|dt \right). \end{aligned}$$

Applying Hölder inequality for  $q, q' > 1$ , ( $\frac{1}{q} + \frac{1}{q'} = 1$ ), we have

$$\sup_x \sum_{j=0}^{N-s} \left( \int_{t_{sj}}^{t_{sj+s}} |p(x,t)| \cdot |f(t) - l_{N,j}(f,t)|dt \right) \leq \sup_x \sum_{j=0}^{N-s} \|p\|_{L_q} \cdot \|f - l_{N,j}\|_{L_{q'}}.$$

Also from theorem 3.1  $\lim_{N \rightarrow \infty} l_{N,j}(f,t) = f(t)$ . Thus  $\|f - l_{N,j}\|_{L_{q'}} \rightarrow 0$  as  $N \rightarrow \infty$ . Also according to the assumption  $p \in L_q$ , we obtain that

$$\lim_{N \rightarrow \infty} \sup_x \left| \int_{-1}^1 p(x,t)f(t)dt - \int_{-1}^1 p(x,t)l_{N,j}(f,t)dt \right| = 0,$$

and this complete the proof.  $\square$

For proving the existence and uniqueness of the solution of the linear algebraic system (2.7), we use the Banach fixed point theorem. For providing the conditions of the Banach fixed point theorem, we define the operator  $\bar{T}$  as following

$$\bar{T}(y_j)_N = T(y_j)_N + g_j,$$

where,  $g_j = g(t_j)$ ,  $(y_j)_N = y_N(t_j)$ ,

$$T(y_j)_N = \sum_{i=0}^N \left\{ p(t_j)l_{i,N}(h(t_j)) + w_{ij} \right\} (y_i)_N, \quad j = 0, 1, \dots, N.$$

We will show that  $\bar{T}$  is a contraction in Banach space  $L^\infty$ . For this, we need the following lemmas.

**Lemma 3.3.** For a given set of nodes  $\{x_i\}_{i=0}^N$  defined as in theorem 3.2, let  $l_{i,j}(t)$  denotes the corresponding Lagrange polynomial on subinterval  $[t_{sj}, t_{sj+s}]$ . Then  $\sup_N \sum_{j=0}^N |w_{ij}|$  exists for all functions  $p \in L_q$ , ( $q > 1$ ) with  $\|p\|_{L_q} = \left\{ \int_{-1}^1 |p(x,t)|^q dt \right\}^{\frac{1}{q}}$ .

*Proof.* Applying Hölder inequality for every  $p(x, t) \in L_q$  ( $q, q' > 1, \frac{1}{q} + \frac{1}{q'} = 1$ ), we have

$$\begin{aligned} \left| \int_{t_{sj}}^{t_{sj+s}} p(x, t) l_{i,j}(t) dt \right| &\leq \int_{t_{sj}}^{t_{sj+s}} |p(x, t)| \cdot |l_{i,j}(t)| dt \\ &\leq \|p\|_{L_q} \cdot \|l_{i,j}\|_{L_{q'}}. \end{aligned}$$

Since  $p \in L_q$  and also for all  $j$ ,  $l_{i,j}$  is a polynomial of degree  $s$  and hence belong to  $L_{q'}$  so

$$\exists E_1 > 0, \quad \left| \int_{t_{sj}}^{t_{sj+s}} p(x, t) l_{i,j}(t) dt \right| \leq E_1,$$

so,

$$\exists E_2 > 0, \quad \sum_{j=0}^{\frac{N-s}{s}} \left| \int_{t_{sj}}^{t_{sj+s}} p(x, t) l_{i,j}(t) dt \right| \leq E_2.$$

Therefore from the relation (2.4), we get

$$\exists E > 0, \quad \sum_{j=0}^N |w_{ij}| \leq E.$$

Since this inequality satisfies for all  $N$ , thus  $\sup_N \sum_{j=0}^N |w_{ij}|$  exists.  $\square$

**Lemma 3.4.** Assume that we have the same assumptions of the lemma 3.3, and let the kernel  $p$  satisfies the conditions

$$\begin{cases} p \in L_q, & q > 1; \\ \lim_{x_j \rightarrow x_k} \|p(x_j, t) - p(x_k, t)\|_{L_q} = 0, & \forall x_j, x_k \in [-1, 1], \end{cases} \quad (3.3)$$

then

$$\lim_{x_j \rightarrow x_k} \sup_N \sum_{i=0}^N |w_i(x_j) - w_i(x_k)| = 0. \quad (3.4)$$

*Proof.* Suppose that  $x_j, x_k \in [-1, 1]$  are arbitrary points of partition points set, then for all functions  $p(x, t) \in L_q$  we have

$$\begin{aligned} &\sup_N \sum_{r=0}^{\frac{N-s}{s}} \left| \int_{t_{sr}}^{t_{sr+s}} l_{i,r}(t) (p(x_j, t) - p(x_k, t)) dt \right| \\ &\leq \sup_N \sum_{r=0}^{\frac{N-s}{s}} \int_{t_{sr}}^{t_{sr+s}} |p(x_j, t) - p(x_k, t)| \cdot |l_{i,r}(t)| dt. \end{aligned}$$

By using Hölder inequality for  $q, q' > 1(\frac{1}{q} + \frac{1}{q'} = 1)$ , we get

$$\begin{aligned} & \sup_N \sum_{r=0}^{\frac{N-s}{s}} \left| \int_{t_{sr}}^{t_{sr+s}} l_{i,r}(t) (p(x_j, t) - p(x_k, t)) dt \right| \\ & \leq \sup_N \sum_{r=0}^{\frac{N-s}{s}} \left\{ \int_{t_{sr}}^{t_{sr+s}} |p(x_j, t) - p(x_k, t)|^q dt \right\}^{\frac{1}{q}} \cdot \|l_{i,r}\|_{L'_q}. \end{aligned}$$

Since  $l_{i,r}$  is a polynomial of degree  $s$  for every  $r$ , thus  $l_{i,r} \in L_{q'}$ . Also we have  $\lim_{x_j \rightarrow x_k} \|p(x_j, t) - p(x_k, t)\|_{L_q} = 0$ . Therefore the relation (2.4) completes the proof.  $\square$

**Lemma 3.5.** *If  $\sup_j |g(t_j)|, \sup_j |p(t_j)|$  and  $\sup_N \sum_{j=0}^N |w_{ij}|$  exist, then  $\bar{T}$  is an operator from  $L^\infty$  into itself.*

*Proof.* Let  $U$  be the set of all functions  $y_N = (y_j)_N$  in  $L^\infty$  such that

$$\forall y_N, \quad \|y_N\|_{L^\infty} = \sup_j |(y_j)_N| \leq \beta,$$

where  $\beta$  is constant. We define operator norm in Banach space  $L^\infty$  as

$$\|\bar{T}y_N\|_{L^\infty} = \sup_j |\bar{T}(y_j)_N|. \quad (3.5)$$

From the definition of the operator  $\bar{T}$  we have

$$|\bar{T}(y_j)_N| \leq |p_j| \sum_{i=0}^N |l_{i,N}(h_j)| \sup_i |(y_i)_N| + \sum_{i=0}^N |w_{ij}| \sup_i |(y_i)_N| + \sup_j |g_j|,$$

from the lemma assumptions

$$\begin{aligned} & \exists H_1, \quad \sup_j |g_j| \leq H_1, \\ & \exists H_2, \quad \sup_j |p_j| \leq H_2, \end{aligned}$$

and

$$\exists E_1, \quad \sup_N \sum_{i=0}^N |w_{ij}| \leq E_1.$$

Since  $l_{i,N}$  is a polynomial of degree  $N$  for every  $i$ , thus

$$\exists E_2; \quad \sup_j \sum_{i=0}^N |l_{i,N}(h_j)| \leq E_2.$$

So

$$\sup_j |\bar{T}(y_j)_N| \leq H_2 E_2 \|(y_j)_N\|_{L^\infty} + E_1 \|(y_j)_N\|_{L^\infty} + H_1.$$

Since this inequality satisfies for all  $j$ , therefore

$$\|\bar{T}(y_j)_N\|_{L^\infty} \leq \sigma_1 \|(y_j)_N\|_{L^\infty} + H_1,$$



where  $\sigma_1 = H_2E_2 + E_1$ . So  $\bar{T}y_N \in L^\infty$  i.e.  $\|\bar{T}y_N\|_{L^\infty} \leq \beta$ . Also  $\|\bar{T}y_N\|_{L^\infty} \leq \sigma_1\beta + H_1$ . By comparing two last relations we have:

$$\sigma_1\beta + H_1 \leq \beta \Rightarrow (H_2E_2 + E_1)\beta + H_1 \leq \beta \Rightarrow \frac{H_1}{\beta} \leq 1 - H_2E_2 - E_1.$$

Since  $H_1 > 0$  and  $\beta > 0$  thus  $H_2E_2 + E_1 < 1$ , that is  $\sigma_1 < 1$ . Furthermore the operator  $T$  is bounded because  $\|Ty_N\|_{L^\infty} \leq \sigma_1\|y_N\|_{L^\infty}$ . Therefore from definition of  $\bar{T}$  we conclude that  $\bar{T}$  is a bounded operator.  $\square$

**Lemma 3.6.** *With the conditions of lemma 3.5,  $\bar{T}$  is a contraction operator in Banach space  $L^\infty$ .*

*Proof.* According to the definition of operator  $\bar{T}$ , for functions  $y_N = (y_j)_N$  and  $z_N = (z_j)_N$  from  $L^\infty$  we have:

$$|\bar{T}(y_j)_N - \bar{T}(z_j)_N| \leq \sum_{i=0}^N |p_j| |l_{i,N}(h_j)| + |w_{ij}| \sup_j |(y_j)_N - (z_j)_N|.$$

By using the conditions of lemma 3.5, we get

$$|\bar{T}(y_j)_N - \bar{T}(z_j)_N| \leq (H_2E_2 + E_1) \|(y_j)_N - (z_j)_N\|_{L^\infty}.$$

This inequality satisfies for all  $j$ , so

$$\|\bar{T}y_N - \bar{T}z_N\|_{L^\infty} \leq \sigma_1 \|y_N - z_N\|_{L^\infty}.$$

Consequently under the condition of  $\sigma_1 < 1$ ,  $\bar{T}$  is a contraction operator in Banach space  $L^\infty$ .  $\square$

**Theorem 3.7.** *With the assumptions of lemma 3.5, the system of equations (2.7) has a unique solution in Banach space  $L^\infty$ .*

*Proof.* According to the Banach fixed point theorem, since  $\bar{T}$  is a contraction operator, thus the system of equations (2.7) has a unique solution in  $L^\infty$ .  $\square$

#### 4. CONVERGENCE OF THE METHOD

By applying the product Nyström method for solving the integral equation (3.1), we obtain the approximate solution  $y_N(x)$  as follows:

$$y_N(x) = g(x) + \sum_{i=0}^N \left\{ p(x) l_{i,N}(h(x)) + w_i(x) \right\} y_N(x_i),$$

where  $w_i(x)$  can be obtain from relation (2.4).

**Definition 4.1.** The product Nyström method is convergent of order  $r$  in  $[-1, 1]$ , if and only if for sufficiently large  $N$ , there is a constant  $c > 0$  independent from  $N$  such that

$$\|y(x) - y_N(x)\|_{L^\infty} \leq cN^{-r}.$$

Local approximate error obtains from

$$y(x) - y_N(x) = \sum_{i=0}^N \left[ w_i(x) + p(x)l_{i,N}(h(x)) \right] \left[ y(x_i) - y_N(x_i) \right] + e_N(x).$$

So

$$(y - y_N) - \sum_{i=0}^N \left[ w_i(x) + p(x)l_{i,N}(h(x)) \right] \left[ y(x_i) - y_N(x_i) \right] = e_N(x). \quad (4.1)$$

Now we define linear operator  $A_N$  as

$$\begin{aligned} A_N &: C[-1, 1] \rightarrow C[-1, 1] \\ A_N f(x) &= \sum_{i=0}^N \left[ w_i(x) + p(x)l_{i,N}(h(x)) \right] f(x_i), \quad f \in C[-1, 1], \quad x \in [-1, 1]. \end{aligned}$$

So we can rewrite the relation (4.1) as follow

$$(I - A_N)(y(x) - y_N(x)) = e_N(x),$$

thus

$$(y - y_N(x)) = (I - A_N)^{-1} e_N(x),$$

since this satisfies for every  $x$ , therefore

$$\sup_x \left| (y - y_N)(x) \right| \leq \sup_x \left| (I - A_N)^{-1} e_N(x) \right|,$$

so

$$\|y - y_N\|_\infty \leq \left\| (I - A_N)^{-1} \right\|_\infty \cdot \|e_N\|_\infty. \quad (4.2)$$

**Theorem 4.2.** *If we define integral operator  $A'$  as follow*

$$\begin{aligned} A' &: C[-1, 1] \rightarrow C[-1, 1], \\ A' f(x) &= \int_{-1}^1 p(x, t) f(t) dt, \quad f \in C[-1, 1], \quad x \in [-1, 1], \end{aligned}$$

*then the integral operator  $A'$  with weakly singular kernel of  $p(x, t)$  is a compact operator on  $C[-1, 1]$ .*

*Proof.* See [1]. □

Now we define operator  $A$  as follow

$$\begin{aligned} A &: C[-1, 1] \rightarrow C[-1, 1] \\ A f(x) &= \int_{-1}^1 p(x, t) f(t) dt + \sum_{i=0}^N p(x) l_{i,N}(h(x)) f(x_i), \end{aligned}$$

Since operator  $A'$  is compact, thus the operator  $A$  is compact too. Also according to the definition of operators  $A$  and  $A_N$  we have

$$\|A - A_N\|_\infty = \left\| \int_{-1}^1 p(x, t) f(t) dt - \int_{-1}^1 p(x, t) L_{N,j}(f, t) dt \right\|_\infty, \quad (4.3)$$

where  $L_{N,j}$  is the Lagrange interpolation polynomial of the continues function  $f$ . Also from (4.2) the right hand side of relation (4.3) converges to zero, when  $N \rightarrow \infty$ . So  $\lim_{N \rightarrow \infty} \|A - A_N\|_{\infty} = 0$ .

For studying behavior of  $\|(I - A_N)^{-1}\|_{\infty}$ , we have the following theorem from [7].

**Theorem 4.3.** *Suppose that  $A : C[-1, 1] \rightarrow C[-1, 1]$  is a linear, compact operator and  $A_N$  is a sequence of linear, bounded operators such that  $\lim_{N \rightarrow \infty} \|A - A_N\|_{\infty} = 0$ , then the inverse operator  $(I - A_N)^{-1} : C[-1, 1] \rightarrow C[-1, 1]$  exists for all sufficiently large  $N$ , and there exist constant  $c > 0$  independent of  $N$  such that  $\|(I - A_N)^{-1}\|_{\infty} \leq c$ .*

From (4.2),  $\lim_{N \rightarrow \infty} e_N = 0$ , so we have the following theorem for convergence of product Nyström method:

**Theorem 4.4.** *Under the conditions of theorem 4.3 the approximate solution  $y_N(x)$  from product Nyström method is uniformly convergent to exact solution  $y(x)$ .*

*Proof.* The proof follows from (4.3) and theorem 4.3. □

## 5. ACKNOWLEDGEMENT

The authors are very grateful to the anonymous referee for his or her comments and suggestions. This work has been supported by a research fund from Azarbaijan Shahid Madani University.

## REFERENCES

1. S. Akbari, H. R. Maimani, S. Yassemi, When a zero-divisor graph is planar or a complete  $r$ -partite graph, *J. Algebra*, **270**, (2003), 169-180.
2. R. Kress, *Linear Integral Equations*, Springer-Verlag, Berlin, 1989.
3. M. T. Rashed, Numerical solution of functional integral equations, *Applied Mathematics and Computation*, **156**(2), (2003), 507-512.
4. M. T. Rashed, Numerical solution of functional differential, integral and integro-differential equations, *Applied Mathematics and Computation*, **156**(2), (2003), 485-492.
5. B. C. Dhage, Existence of external solutions for discontinuous functional integral equations, *Applied Mathematics Letters*, **19**, (2006), 881-886.
6. M. A. Abdou, F. A. Hendi, Numerical solution for Fredholm integral equation with Hilbert kernel, *J. KSIAM*, **9**(1), (2005), 111-123.
7. K. E. Atkinson, *The Numerical Solution of Integral Equations of the Second Kind*, Cambridge University Press, Cambridge, 1997.
8. L. M. Delves, J. L. Mohamed, *Computational Methods for Integral Equations*, Cambridge University Press, New York, NY, 1988
9. J. Stoer, R. Bulirsch, *Introduction to Numerical Analysis*, Springer, New York, NY, 1991.
10. A. Palamara Orsi, Product integration for Volterra integral equation of the second kind with weakly singular kernel, *Mathematics of Computation*, **65**(215), (1996), 1201-1212.

11. M. A. Abdou, Khamis I. Mohamed, A. S. Ismail, Toeplitz matrix and Product Nystrom method for solving the singular integral equation, *Le Matematica*, **I(11)**, (2002), 21-37.
12. A. A. Badr, Numerical solution of Fredholm-Volterra integral equation in one dimension with time dependent, *Applied Mathematics and Computation*, **167**, (2005), 1156-1161.
13. A. J. Jerri, *Introduction to Integral Equations with Applications*, John Willey Sons, 1993.
14. W. Rudin, *Real and Complex Analysis*, McGraw-Hill, Third edition, 1987.
15. R. P. Kanwal, *Linear integral equations; Theory and technique*, Boston, MA 1996.
16. R. P. Agarwal, Donal O'Regan, *Infinite Interval Problems for Differential, Difference and Integral Equations*, kluwer academic Publishers, Dordrecht, 2001.
17. Jrgen Appell, Petr P. Zabrejko, *Nonlinear Superposition Operators*, Cambridge Tracts in Mathematics, **95**, Cambridge University Press, 1990.
18. N. V. Azbelev, V. P. Maksimov, L. F. Rakhmatullina, *Introduction to The Theory of Functional Differential Equations*, Nauka, Moscow, 1990.
19. J. Banas, Applications of Measures of Noncompactness to Various Problems, *Zeszyty Naukowe Politechniki Rzeszowskiej*, Nr 34, Matematyka i fizyka z.5, Matematyka, z.5, Rzeszov, 1987.
20. T. A Burton, *Volterra Integral and Differential Equations*, Academic Press, New York, 1983.
21. C. Corduneanu, *Integral Equations and Stability of Feedback Systems*, Academic Press, New York, 1973.
22. K. Deimling, *Nonlinear Functional Analysis*, Springer Verlag, Berlin, 1985.
23. J. K. Hale, *Theory of Functional Differential Equations*, Springer, 1977.
24. M. A. Krasnoselskii, P. P. Zabreiko. E. I. Pustyl'nik, P. E. Sbolevskii, *Integral Operators in Spaces of Summable Functions*, Nauka, Moscow, 1966.
25. C. T. H. Baker, *The Numerical Treatment of Integral Equations*, Oxford University Press, Oxford, 1977.
26. M. Zima, A certain fixed point theorem and its applications to integral-functional equations, *Bull. Austral. Math. Soc.*, **46**, (1992), 179-186
27. M. Kwapisz, J. Turo, Some integral-functional equations, *Funkcialaj Ekvacioj, Serio Internacia*, **18**, (1975), 107-162.
28. K. Maleknejad, R. Mollapourasl, K. Nouri, Study on existence of solutions for some nonlinear functionalintegral equations, *Nonlinear Analysis*, **69**, (2008), 2582-2588.